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Solve five of the following seven problems.

1. y²½Ä½: é?Ûf ∈ C[1,∞)þ�3��õ�ª{pn}∞n=1, �n →
∞�pn��Âñuf .

2. b�[a, b]þ¼êfØ´~�¼ê,�f ′ = 0 a.e. Kf�½Ø÷vLipschitz^

�.

3. �E ⊂ Rn, f ∈ L1(E, m)�f 6= 0. y²:∫
E

|f |pdm −→ m(E) as p → 0 + .

4. ép > 0, �

Bp :=

{
(x1, . . . , xn) ∈ Rn :

n∑
i=1

|xi|p < 1

}
.

¦Bp�NÈ.

5. �U´E²¡þ�ü ��, i.e. U = {z ∈ C : |z| < 1}. ef 3U \{0}S
)Û�÷v

∫
U
|f |2 < ∞, K0´f���Û:.

6. �f3ü ��S)Û, �Ù�¼ê÷v

|f ′(z)| < (1− |z|)−1,

y²Ù�?êÐm

f(z) =
∞∑

n=0

anz
n

¥�Xê÷v�O|an| < e, n = 1, 2, . . ., Ù¥e´g,éê�..

7. �E´C[0, 1]�4�5f�m,Ù��þ´C1�. y²E�½´k���.
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